
Q.1 A # B का अथŊ है 'A, B की माँ है'।
A @ B का अथŊ है 'A, B का बेटा है'।
A & B का अथŊ है 'A, B का भाई है'।
A % B का अथŊ है 'A, B की पȉी है'।
यिद W # Q @ T & Y @ M % K है, तो K, W से िकस Ůकार संबंिधत है?

Ans 1. देवर

2. भाई

3. ससुर

4. िपता

Question ID : 26433068150

Status : Answered

Chosen Option : 3

Q.2 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(12, 42, 7)
(13, 52, 8)

Ans 1. (7, 12, 6)

2. (9, 18, 4)

3. (9, 26, 8)

4. (8, 7, 43)

Question ID : 26433079123

Status : Answered

Chosen Option : 2

Q.3 नीचे िदए गए Ůʲ मŐ, चार संƥा युƵ िदए गए हœ। Ůȑेक युƵ मŐ (–) के बायी ंओर दी गई संƥा (–) के
दायी ंओर दी गई संƥा से िकसी तकŊ /िनयम/संबंध से संबंिधत है। तीन युƵ उसी एक तकŊ /िनयम/संबंध
के आधार पर समान हœ। िदए गए िवकʙों मŐ से िवषम को चुिनए।(ȯान दŐ: संƥाओं को उनके संघटक
अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर संिŢयाएँ िन˃ािदत की जानी चािहए। उदाहरण "13" -
13 पर संिŢयाएँ जैसे िक 13 मŐ जोड़ना/घटाना/गुणा करना आिद िकया जा सकता है। 13 को 1 और 3 मŐ
तोड़ना और और िफर 1 और 3 पर गिणतीय संिŢयाएँ करने की अनुमित नही ं है)

Ans 1. 12 – 167

2. 11 – 111

3. 8 – 81

4. 7 – 71

Question ID : 264330105064

Status : Answered

Chosen Option : 1

Combined Graduate Level Examination Tier I 2022
Roll Number
Candidate Name
Venue Name Academy of Management Studies
Exam Date 03/12/2022
Exam Time 9:00 AM - 10:00 AM
Subject Combined Graduate Level Examination Tier I 2022

Section : General Intelligence and Reasoning
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Q.4

Ans

1. 

2. 

3. 

4. 

Question ID : 26433057858

Status : Answered

Chosen Option : 4

Q.5

Ans 1. 4

2. 3

3. 5

4. 6

Question ID : 26433070246

Status : Answered

Chosen Option : 1
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Q.6 िनɻिलİखत Ůʲ मŐ दी गई ŵंृखला मŐ से लुɑ अंक ǒात कीिजए।
1, 22, 44, 67, 91, ?

Ans 1. 106

2. 118

3. 116

4. 115

Question ID : 264330105013

Status : Answered

Chosen Option : 3

Q.7 उस िवकʙका चयन कीिजए जो पांचवŐ अƗर-समूह से उसी Ůकार संबंिधत है िजस Ůकार दूसरा अƗर-
समूह पहले अƗर-समूह से संबंिधत है और चौथा अƗर-समूह तीसरे अƗर-समूह से संबंिधत है।
ROAR : QZNQ :: HEAR : QZDG :: DAMP : ?

Ans 1. BCOA

2. MPAD

3. OLZC 

4. PMAD 

Question ID : 26433056403

Status : Answered

Chosen Option : 3

Q.8 दी गयी दो संƥाओं को आपस मŐ पर˙र बदलने पर िनɻिलİखत मŐ से कौन सा समीकरण सही नही ं
होगा?
5 तथा 9

Ans 1. 9 × 4 + 5 – 8 ÷ 2 = 25

2. 9 – 4 × 5 + 6 ÷ 2 = –28

3. 9 + 7 × 8 ÷ 4 – 5 = 10

4. 9 – 5 × 4 + 6 ÷ 3 = –30

Question ID : 264330105106

Status : Answered

Chosen Option : 4

Q.9 िनɻिलİखत चार अƗर-संयोजनो ं मŐ से तीन िकसी िनिʮत तरीके से समान हœ और इस Ůकार एक समूह
बनाते हœ। कौन सा अƗर-संयोजन उस समूह से संबंिधत नही ं है?

Ans 1. FYI

2. RKU

3. KDN 

4. CGB

Question ID : 26433081507

Status : Not Answered

Chosen Option : --

Q.10 उस िवकʙका चयन कीिजए, िजसका पाँचवŐ अƗर-समूह से ठीक वही संबंध है, जो संबंध दूसरे अƗर-
समूह का पहले अƗर-समूह से है और वही संबंध चौथे अƗर-समूह का तीसरे अƗर समूह से है।
WINDOW : XFOELX :: TICKET : UFDLBU :: REGION : ?

Ans 1. HFSOKL

2. BHFDLO

3. SBHFLO

4. SHFKLO

Question ID : 26433069021

Status : Answered

Chosen Option : 3

ww
w.
go
vt
jo
bs
al
er
t.i
n

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.11 उस िवकʙका चयन कीिजए जो िदए गए शɨों के उस सही Ţम को िनŝिपत करता है िजस Ţम मŐ वे
अंŤेजी शɨकोश मŐ आते हœ।
1- Expensive
2- Expedition
3- Experience
4- Expel
5- Expenditure

Ans 1. 2, 4, 5, 1, 3

2. 4, 2, 5, 1, 3

3. 5, 2, 1, 4, 3

4. 2, 4, 5, 3, 1

Question ID : 26433079453

Status : Answered

Chosen Option : 1

Q.12 गिणतीय िच˥ो ं के उस सही संयोजन का चयन करŐ िजसे Ţिमक ŝप से * िच˥ो ं के ̾थान पर रखने पर
िदया गया समीकरण संतुिलत हो जाएगा।
20 * 2 * 50 * 5 * 115

Ans 1. −, ×, +, =

2. −, ×, =, +

3. +, ×, −, =

4. +, ×, =, −

Question ID : 26433068570

Status : Answered

Chosen Option : 3
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Q.13

Ans

1. 

2. 

3. 

4. 

Question ID : 26433068618

Status : Answered

Chosen Option : 1

Q.14 िवकʙों मŐ से उस समुǄय का चयन कीिजए िजसमŐ दी गई संƥाओं के बीच वही संबंध है, जो संबंध
नीचे िदए गए समुǄयों की संƥाओं के बीच है।
(नोट: आपको संƥाओं पर कोई भी संिŢया उनके घटक अंको ं मŐ िवभािजत िकए िबना, पूणŊ संƥाओं
पर ही करनी है।)
(36, 90, 18)
(15, 35, 8)

Ans 1. (13, 78, 6)

2. (14, 45, 5)

3. (14, 42, 7)

4. (12, 60, 8)

Question ID : 26433069244

Status : Not Answered

Chosen Option : --
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Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 26433067821

Status : Answered

Chosen Option : 3

Q.16 यिद P + Q का अथŊ है िक P, Q की माता है, P ÷ Q का अथŊ है िक P, Q का िपता है, P – Q का अथŊ है
िक P, Q की बहन है, तो िनɻिलİखत मŐ से कौन सा ʩंजक यह िनŝिपत करता है, िक A, C की नानी
हœ?

Ans 1. A – B ÷ C

2. A ÷ B + C

3. A + B ÷ C

4. B ÷ A + C

Question ID : 264330104959

Status : Answered

Chosen Option : 3

Q.17 िनɻिलİखत मŐ से कौन-सा अƗर-समूह दी गई Şंखला मŐ Ůʲ-िच˥ (?) को Ůित̾थािपत करेगा?
DAJ, GEL, JIN, MMP, ?

Ans 1. QPU

2. QRT

3. PRS

4. PQR

Question ID : 26433057992

Status : Answered

Chosen Option : 4ww
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Q.18 नीचे िदए गए Ůʲ मŐ कुछ कथनऔर उनके बाद उन कथनो ं पर आधाįरत कुछ िनʺषŊ िदए गए हœ। िदए
गए कथनो ं को सही मानŐ, भले ही उनमŐ सामाɊतः ǒात तȚों से िभɄता हो। सभी िनʺषŊ पढ़Ő और िफर
िनधाŊįरत करŐ िक कौन से िनʺषŊ, िदए गए कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।
कथन:
I. कुछ W, F हœ।
II. कुछ R, F हœ।
िनʺषŊ:
I. कुछ R, W नही ं हœ।
II. कोई W, R नही ं है।

Ans 1. कोई भी िनʺषŊ अनुसरण नही ं करता है

2. केवल िनʺषŊ I अनुसरण करता है

3. केवल िनʺषŊ II अनुसरण करता है

4. I तथा II दोनों िनʺषŊ अनुसरण करते हœ

Question ID : 264330104915

Status : Answered

Chosen Option : 3

Q.19 िदये गये कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गयी जानकारी सही है,
भले ही वह सामाɊ ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, िनणŊय करŐ िक िदए गए िन̽कषŘ मŐ से
कौन-सा/से िनʺषŊ कथन(नो)ं का तािकŊ क ŝप से अनुसरण करता/करते है/हœ।
कथन:
कुछ बʛ İˢच हœ।
कोई İˢच फूलदान नही ं है।
सभी पंखे İˢच हœ।
िनʺषŊ:
I. कुछ बʛ के पंखे होने की संभावना है।
II. कोई पंखा फूलदान नही ं है।
III. सभी İˢच पंखे हœ।
IV. कोई बʛ फूलदान नही ं है।

Ans 1. केवल िनʺषŊ I और II अनुसरण करते हœ

2. केवल िनʺषŊ II और III अनुसरण करते हœ

3. केवल िनʺषŊ I, II और IV अनुसरण करते हœ

4. केवल िनʺषŊ I अनुसरण करता है

Question ID : 26433070345

Status : Answered

Chosen Option : 4
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Q.20

Ans

1. 

2. 

3. 

4. 

Question ID : 26433080515

Status : Answered

Chosen Option : 2

Q.21 उस समुǄय का चयन कीिजए िजसमŐ संƥाएं आपस मŐ उसी Ůकार संबंिधत हœ िजस Ůकार िनɻिलİखत
समुǄयों की संƥाएं आपस मŐ संबंिधत हœ।
(नोट: संƥाओं को उसके घटक अंकों मŐ िवभािजत िकए िबना, पूणŊ संƥाओं पर गिणतीय संिŢयाएं की
जानी चािहए। उदाहरण के िलए 13 - गिणतीय संिŢयाएं जैसे िक जोड़ना/घटाना/गुणा करना इ̝यािद 13
मŐ िकया जा सकता है। 13 को 1 और 3 मŐ िवभािजत करना और िफर 1 और 3 पर गिणतीय संिŢयाएं
करने की अनुमित नही ं है।)
(452, 50, 63)
(260, 35, 30)

Ans 1. (260, 30, 25)

2. (330, 30, 45)

3. (260, 50, 15)

4. (230, 15, 45)

Question ID : 26433076473

Status : Not Answered

Chosen Option : --

Q.22 एक िनिʮत कूट भाषा मŐ, 'MOBILE' को 'PRELOH' िलखा जाता है और 'SILENT' को 'VLOHQW'
िलखा जाता है, उसी भाषा मŐ 'PAINTING' को कैसे िलखा जाएगा?

Ans 1. RCKPVKPI

2. SDLQVKPI

3. SDLQWLQJ

4. RCKPWLQJ

Question ID : 26433067770

Status : Answered

Chosen Option : 3

ww
w.
go
vt
jo
bs
al
er
t.i
n

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.23 एक िनिʮत कूट भाषा मŐ, 'BREAK' को '2182111’ के ŝप मŐ िलखा जाता है और 'COLOUR' को
‘34124518’ के ŝप मŐ िलखा जाता है। उसी भाषा मŐ ‘TRING’ को कैसे िलखा जाएगा?

Ans 1. 20183147

2. 20189147

3. 20181347

4. 20183174

Question ID : 26433067574

Status : Answered

Chosen Option : 2

Q.24 िदए गए समीकरण को संतुिलत करने के िलए िकन दो संƥाओंऔर िकन दो िच˥ो ं को पर˙र बदलना
होगा?
14 × 6 ÷ 12 + 15 − 9 = 203

Ans 1. 12 , 15 , − , ×

2. 12 , 9 , ÷ , −

3. 15 , 6 , + , ÷

4. 14 , 6 , ÷ , ×

Question ID : 26433085359

Status : Not Answered

Chosen Option : --

Q.25 एक अनुŢम िदया गया है, िजसमŐ से एक पद लुɑ है। िदए गए िवकʙों मŐ से वह सही िवकʙ चुिनए, जो
अनुŢम को पूरा करे।
RMTS, WGAK, BAHC, GUOU, ?

Ans 1. LMNQ

2. LOVQ

3. LMNO

4. LOVM

Question ID : 264330104828

Status : Answered

Chosen Option : 4

Q.1 ̾थलमंडल िकतना मोटा है?

Ans 1. 5 से 10 िकलोमीटर

2. 10 से 200 िकलोमीटर

3. 25 से 45 िकलोमीटर

4. 10 से 25 िकलोमीटर

Question ID : 26433064463

Status : Answered

Chosen Option : 3

Q.2 यिद हम जीएनपी (GNP) से मूʞŸास को घटाते हœ, तो कौन सी समŤ आय Ůाɑ होती है?

Ans 1. सकल घरेलू उȋाद

2. ʩİƅगत आय

3. शुȠ रा Ō̓ ीय उȋाद

4. बाजार मूʞ पर सकल घरेलू उȋाद

Question ID : 264330105362

Status : Answered

Chosen Option : 3

Section : General Awareness
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Q.3 िनɻिलİखत मŐ से कौन सा एक Ůाकृितक रेशा नही ं है?

Ans 1. िलनन

2. रेयान

3. जूट

4. कपास

Question ID : 264330105618

Status : Answered

Chosen Option : 2

Q.4 ओलंिपक 2020 मŐ भारतीय हॉकी पुŜष टीम के कɑान कौन थे?

Ans 1. ŵीजेश रिवंūन

2. अिमत रोिहदास

3. कृशन बी पाठक

4. मनŮीत िसंह

Question ID : 26433071542

Status : Answered

Chosen Option : 4

Q.5 ______ कैİ̵शयम काबŖनेट से बनी चǥानो ं मŐ पाया जाता है।
Ans 1. लोहा

2. चूना पȈर

3. हीरा

4. सोना

Question ID : 264330105500

Status : Answered

Chosen Option : 2

Q.6 ƶारहवी ंशताɨी के आरʁ मŐ, चोल राजा राजŐū Ůथम ने एक िशव मंिदर का िनमाŊण िकया और इसे
______ से ज़ɧ सूयŊ-पीिठका से भर िदया।

Ans 1. पालों

2. वाकाटकों

3. किलंगों

4. चालुƐों

Question ID : 264330105439

Status : Not Answered

Chosen Option : --

Q.7 ओयो (OYO) ने Ťामीण पयŊटन पहल शुŝ करने के िलए जʃूऔर कʳीर Ůशासन के साथ भागीदारी
की। इस पहल का नामƐा है?

Ans 1. अतुʞ भारत का ताज

2. एक बेहतर भिवˈ का ताना-बाना

3. संयुƅ भारत

4. साझा Ťह

Question ID : 264330105291

Status : Not Answered

Chosen Option : --
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Q.8 _______ ने अƃूबर 2022 मŐ मेघालय के नए राǛपाल के ŝप मŐ शपथ ली।
Ans 1. Ůशांत कुमार

2. ए.के. अिनल कुमार

3. सुनील बथŊवाल

4. बी.डी. िमŵा

Question ID : 264330105339

Status : Answered

Chosen Option : 4

Q.9 कोिशका िवभाजन के ______ मुƥ Ůकार हœ।
Ans 1. 4

2. 3

3. 5

4. 2

Question ID : 264330105450

Status : Answered

Chosen Option : 4

Q.10 पृțी की पपŊटी बनाने वाले खिनज पदाथŊ के िकसी भी Ůाकृितक िपंड को ______ कहते हœ।
Ans 1. शैल

2. जीवाʳ

3. कचरा

4. पȈर

Question ID : 264330105641

Status : Answered

Chosen Option : 1

Q.11 िनɻिलİखत मŐ से िकसका संबंध संगीत वाȨयंũ संतूर से है?

Ans 1. पंिडत हįरŮसाद चौरिसया

2. पंिडत िशवकुमार शमाŊ

3. पंिडत रिवशंकर Ůसाद

4. पंिडत जसराज

Question ID : 26433074114

Status : Answered

Chosen Option : 2

Q.12 मुƥमंũी ŵिमक कʞाण Ůकʙ योजना अिमत शाह Ȫारा ________ की मिहलाओं के िलए शुŝ की
गई थी।

Ans 1. िũपुरा

2. िबहार

3. हįरयाणा

4. झारखंड

Question ID : 264330105271

Status : Not Answered

Chosen Option : --
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Q.13 भारतीय रा Ō̓ ीय कांŤेस का पहला सũ ______ मŐ आयोिजत िकया गया था।
Ans 1. कलकȅा

2. बॉɾे

3. सूरत

4. मūास

Question ID : 264330105563

Status : Answered

Chosen Option : 2

Q.14 बोराƛ का रासायिनक सूũ _________ है।
Ans 1. 

2. 

3. 

4. 

Question ID : 26433066459

Status : Answered

Chosen Option : 3

Q.15 िनɻिलİखत मŐ से कौन सा Ţम िदʟी वंशो ं के सȽभŊ मŐ सही है?

Ans 1. ख़लजी वंश, लोदी वंश, सैयद वंश

2. राजपूत वंश, ख़लजी वंश, तुग़लक वंश

3. Ůारंिभक तुकŎ शासक, राजपूत वंश, ख़लजी वंश

4. तुग़लक वंश, ख़लजी वंश, सैयद वंश

Question ID : 264330105420

Status : Answered

Chosen Option : 1

Q.16 राजŵी िशकő को कथक मŐ उनके उǽृʼ ŮदशŊन के िलए 2013 मŐ िनɻिलİखत मŐ से कौन-से Ůितिʿत नृȑ
पुरˋार से सʃािनत िकया गया था?

Ans 1. संगीत नाटक अकादमी पुरˋार

2. पȧ ŵी

3. कािलदास सʃान

4. रा Ō̓ ीय िफʝ पुरˋार

Question ID : 26433074835

Status : Not Answered

Chosen Option : --

Q.17 हœडबॉल मŐ जो İखलाड़ी िडŌ İɰंग करना बंद कर देते हœ, उɎŐ िकतने समय के भीतर पास या शॉट देना
होता है?

Ans 1. 3 सेकंड

2. 10 सेकंड

3. 30 सेकंड

4. 5 सेकंड

Question ID : 26433064284

Status : Answered

Chosen Option : 4
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Q.18 िनɻिलİखत मŐ से कौन सा पद किव हįरषेण के पास नही ं था?
Ans 1. संिध-िवŤिहक

2. नगर-ŵेʿी

3. कुमारामाȑ

4. महादंडनायक

Question ID : 264330105198

Status : Not Answered

Chosen Option : --

Q.19 िनɻिलİखत मŐ से िकसे तिमलनाडु मŐ नव वषŊ के ŝप मŐ मनाया जाता है?

Ans 1. पुथांडु

2. उगादी

3. ओणम

4. पोगंल

Question ID : 26433071697

Status : Answered

Chosen Option : 4

Q.20 िहंदुˑानी शा˓ीय संगीत की एक Ůितपादक गंगूबाई हंगल एक Ůƥात खयाल गाियका थी,ं जो
िहंदुˑानी संगीत के __________ घराने से संबंिधत थी।ं

Ans 1. आगरा

2. पिटयाला

3. ƹािलयर

4. िकराना

Question ID : 26433054477

Status : Not Answered

Chosen Option : --

Q.21 संिवधान ______ वषŊ से कमआयु के बǄों को कारखानो ंऔर खदानो ं जैसी खतरनाक नौकįरयो ं मŐ
िनयोिजत करने से मना करता है।

Ans 1. 14

2. 16

3. 15

4. 18

Question ID : 26433064829

Status : Answered

Chosen Option : 1

Q.22 िवद्युत धारा को ________ नामक इकाई Ȫारा ʩƅ िकया जाता है।
Ans 1. वॉट

2. जूल

3. मीटर

4. ऐİɼयर

Question ID : 26433066453

Status : Answered

Chosen Option : 4
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Q.23 िनɻिलİखत मŐ से कौन-सा ई-कॉमसŊ का वगŎकरण नही ं है?

Ans 1. B2C (िबजनेस-टू-कंǛूमर)

2. C2C (कंǛूमर-टू-कंǛूमर)

3. D2D (िडİ Ōː ɯूटर-टू-िडİ Ōː ɯूटर)

4. B2B (िबजनेस-टू-िबजनेस)

Question ID : 26433064520

Status : Not Answered

Chosen Option : --

Q.24 मैưीिशयमऑƛाइड का रासायिनक सूũ ______ है।
Ans 1. Mg(OH) 2

2. MgCO3

3. MgO

4. MgO2

Question ID : 264330105472

Status : Answered

Chosen Option : 4

Q.25 भारत के रा Ō̓ पित के चुनाव के संदभŊ मŐ िनɻिलİखत मŐ से कौन सा कथन सही नही ं है?

Ans 1. रा Ō̓ पित का चुनाव पांच वषŊ की अविध के िलए िकया जाता है।

2. चुनाव आनुपाितक Ůितिनिधȕ के िसȠांत के अनुसार होता है।

3. रा Ō̓ पित के चुनाव के संबंध मŐ सभी शंकाओं और िववादों की जांच और िनणŊय सवŖǄ Ɋायालय और
उǄ Ɋायालय दोनों Ȫारा िकया जा सकता है।

4. वह िनवाŊिचत MLAs और MPs Ȫारा अŮȑƗ ŝप से चुना जाता है।

Question ID : 26433072914

Status : Answered

Chosen Option : 3

Q.1 एक ʩापारी के पास एक वजन तराजू है, जो एक kg के िलए 1300 g िदखाता है। वह आगे अपने Ţय-
मूʞ मŐ 15% की वृİȠ करता है। शुȠ लाभ Ůितशत __________ है।

Ans 1. 45%  

2. 49.5%  

3. 48.5%  

4. 50% 

Question ID : 26433063474

Status : Not Answered

Chosen Option : --

Q.2 यिद (cos q + sin q) = 31/25 है, तो cos2 q का मान Ɛा होगा?
Ans 1. 512/625

2. 513/625

3. 522/625

4. 527/625

Question ID : 264330105903

Status : Not Answered

Chosen Option : --

Section : Quantitative Aptitude
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Q.3 वृȅ के एक िũǛखंड का Ɨेũफल 66cm2 है और उस िũǛखंड के कोण का माप 60° है। उस वृȅ की
िũǛा ǒात कीिजए।

Ans 1. 

2. 

3. 

4. 

Question ID : 26433066334

Status : Answered

Chosen Option : 3

Q.4 वह िनकटतम संƥा जो 87501 से बड़ी है और 765 से पूणŊतः िवभाǛ है वह ǒात कीिजए।
Ans 1. 87975

2. 87966

3. 88975

4. 87775

Question ID : 26433074220

Status : Not Answered

Chosen Option : --

Q.5

Ans 1. cosA + sinA

2. tanA

3. cosA − sinA

4. cosA.sinA

Question ID : 26433066241

Status : Not Answered

Chosen Option : --

Q.6 Ŝिच, खुशी और तेजू एक कायŊ को Ţमशः 30, 40 और 60 िदन मŐ पूरा कर सकते हœ। यिद खुशी और
तेजू दोनो ं हर तीसरे िदन Ŝिच की सहायता करते हœ, तो Ŝिच िकतने िदन मŐ कायŊ पूरा कर सकती है?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080056

Status : Not Answered

Chosen Option : --
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Q.7 यिद एक गोले का ʩास 3.5 से.मी. है, तो गोले का कुल पृʿीय ƗेũफलƐा है?

Ans 1. 34.25 से.मी.2

2. 38.5 से.मी.2

3. 45.75 से.मी.2

4. 42.6 से.मी.2

Question ID : 264330105845

Status : Answered

Chosen Option : 2

Q.8 यिद a ∶ b = c ∶ d है, तो िनɻिलİखत मŐ से कौन-सा अनुपात a : c के बराबर है?

Ans 1. b ∶ c
2. a ∶ d
3. a + b ∶ c + d

4. a + d ∶ b + c

Question ID : 26433066174

Status : Answered

Chosen Option : 4

Q.9

Ans 1. ₹2,080

2. ₹2,205

3. ₹2,808

4. ₹2,880

Question ID : 26433065057

Status : Not Answered

Chosen Option : --

Q.10 ₹5,000 को दो भागो ं मŐ इस Ůकार िवभािजत िकया जाता है िक यिद एक भाग को 4% की दर से और
दूसरे को 5% की दर से िनवेश िकया जाता है, तो दोनो ं रािशयो ं से Ůाɑ कुल वािषŊक ɯाज ₹223 है। 4%
पर िकतना िनवेश िकया गया था?

Ans
1. 

2. 

3. 

4. 

Question ID : 26433082615

Status : Not Answered

Chosen Option : --
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Q.11 नीचे दी गई तािलका िविभɄ राǛों मŐ लोगो की संƥा को दशाŊती है।

राǛ C मŐ लोगो की संƥा का राǛ E मŐ लोगो की संƥा से अनुपात Ɛा है?

Ans 1. 35 : 18

2. 17 : 29

3. 18 : 35

4. 31 : 17

Question ID : 264330105743

Status : Answered

Chosen Option : 3

Q.12

Ans 1. 29239

2. 28561

3. 27887

4. 29243

Question ID : 26433075304

Status : Answered

Chosen Option : 1

Q.13

Ans
1. 

2. 

3. 

4. 

Question ID : 26433080077

Status : Answered

Chosen Option : 2
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Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 26433076240

Status : Not Answered

Chosen Option : --

Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 26433076064

Status : Not Answered

Chosen Option : --

Q.16 एक िनिʮत िबल पर 25% की छूट और 15% और 10% की दो Ţिमक छूटो ं के बीच का अंतर ₹25 था।
िबल की रािश ǒात कीिजए।

Ans
1. 

2. 

3. 

4. 

Question ID : 26433076182

Status : Not Answered

Chosen Option : --

ww
w.
go
vt
jo
bs
al
er
t.i
n

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.17 यिद एक गोले का आयतन 24,416.64 cm3 है, तो इसका पृʿीय Ɨेũफल ǒात कीिजए जो दशमलव के
दो ̾थानो ं तक सही हो। (π=3.14 लीिजए)

Ans 1. 

2. 

3. 

4. 

Question ID : 26433065017

Status : Not Answered

Chosen Option : --

Q.18 िũभुज ABC मŐ, कोण BAC का समिȪभाजक भुजा BC को D पर काटता है। यिद AB = 10 सेमी, और
AC = 14 सेमी है, तो BD : BC Ɛा है?

Ans 1. 7 : 10

2. 7 : 5

3. 10 : 7

4. 5 : 7

Question ID : 264330105830

Status : Answered

Chosen Option : 4

Q.19 िदए गए कथन के संदभŊ मŐ सही िवकʙ का चयन कीिजए।
एक वृȅ के ʩास के िसरो ं(अंत) पर दो ˙शŊ रेखाएँ खीचंी जाती हœ।

Ans 1. वे एक दूसरे के समानांतर होती हœ।

2. वे एक दूसरे के लंबवत होती हœ।

3. वे उȜम िबंदु से गुजरती हœ।

4. वे एक दूसरे को Ůितǅेद करती हœ।

Question ID : 26433082921

Status : Answered

Chosen Option : 1

Q.20

Ans 1. 41

2. 36

3. 25

4. 40

Question ID : 26433061944

Status : Not Answered

Chosen Option : --
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Q.21

Ans 1. 300 km

2. 260 km

3. 280 km

4. 240 km

Question ID : 26433076046

Status : Not Answered

Chosen Option : --

Q.22 नीचे दी गई तािलका छ: कंपिनयो Ȫारा बेची गई टŌक की संƥा को दशाŊती है।

L Ȫारा बेचे गए टŌक की संƥा, J Ȫारा बेचे गए टŌक की संƥा का िकतना Ůितशत है?

Ans 1. 100 Ůितशत

2. 200 Ůितशत

3. 150 Ůितशत

4. 250 Ůितशत

Question ID : 264330105715

Status : Answered

Chosen Option : 2

Q.23 एक कƗा मŐ 60 छाũो ं के औसत अंक 62 हœ। उस िवषय मŐ लड़के और लड़िकयों के औसत अंक Ţमशः
60 और 65 हœ। कƗा मŐ लड़कों की संƥा है:

Ans 1. 25

2. 31

3. 36

4. 41

Question ID : 26433075381

Status : Not Answered

Chosen Option : --ww
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Q.24

Ans 1. S2 और S3

2. S2 और S4

3. S1 और S4

4. S1 और S3

Question ID : 26433085474

Status : Answered

Chosen Option : 3

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 26433058176

Status : Not Answered

Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence.

I used to swim across the river when I was young.

Ans 1. was swimming across

2. will swim across

3. could swim across

4. can swim across 

Question ID : 26433073839

Status : Answered

Chosen Option : 3
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Q.2 In the given sentence the underlined word may have been incorrectly spelt. Identify
the option that rectifies the spelling. If there is no error in spelling, select ‘No error’.

Getting a compliment from her husband was a rare occurrance in Rashmila’s life.

Ans 1. No error

2. occurrence  

3. ocurrancce  

4. ocurrance  

Question ID : 26433058639

Status : Answered

Chosen Option : 4

Q.3 Select the most appropriate meaning of the given idiom.
Fair and square

Ans 1. Honestly

2. Good looking

3. Fair-skinned

4. Being vague

Question ID : 26433070801

Status : Answered

Chosen Option : 1

Q.4 Select the option that contains a grammatical error in the underlined portion.

I have never played any game of side this track during the season.

Ans 1. I have never played any game off side this track during the season.

2. I have never played any game of side this track during the season.

3. I have never played any game off side this track during the season.

4. I have never played any game off side this track during the season.

Question ID : 26433088586

Status : Not Answered

Chosen Option : --

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Last before year, Shirley got very good grades.

Ans 1. Before last year 

2. Before year last 

3. The year before last 

4. The last year before 

Question ID : 26433088745

Status : Answered

Chosen Option : 1

Q.6 Select the sentences that contains no spelling errors.

Ans 1. I heard raucous laughter from the next room.

2. I heard raucouos laughter from the next room.

3. I heard raocous laughter from the next room.

4. I heard raucus laughter from the next room.

Question ID : 26433070692

Status : Answered

Chosen Option : 1
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Q.7 Select the most appropriate synonym of the word ‘stagnant’ from the following
sentence.

Reeta was motionless after knowing that her brother had become mentally unstable
after seeing the fatal accident on Tuesday night.

Ans 1. Motionless

2. Accident

3. Unstable

4. Fatal

Question ID : 26433072267

Status : Not Answered

Chosen Option : --

Q.8 Select the correct passive form of the given sentence.
The new owners hired a lot of new servers.

Ans 1. A lot of new servers were hired by the new owners.

2. A lot of new servers are hired by the new owners.

3. A lot of new servers are being hired by the new owners.

4. A lot of new servers had been hired by the new owners.

Question ID : 264330104559

Status : Answered

Chosen Option : 2

Q.9 Select the most appropriate ANTONYM of the given word.

Ambition

Ans 1. Anxiety  

2. Intent  

3. Laziness  

4. Object  

Question ID : 26433060694

Status : Answered

Chosen Option : 3

Q.10 Select the option that expresses the given sentence in passive voice.

Had they not cleared the exam?

Ans 1. Is the exam not been cleared by them?

2. Was the exam not been cleared by them?

3. Had the exam not been cleared by them?

4. Have the exam not been cleared by them?

Question ID : 26433073245

Status : Answered

Chosen Option : 3
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Q.11 Fill in the blank with the correct collocation.

Motorists committing this infraction are ________ fined.

Ans 1. heavily

2. hardly 

3. slowly

4. wholly 

Question ID : 26433090501

Status : Not Answered

Chosen Option : --

Q.12 Select the most appropriate option to fill in the blank.

We decided to ___________ as we were missing him a lot.

Ans 1. pay him a visit

2. bring in a visit

3. give a visit

4. take a visit

Question ID : 26433091844

Status : Answered

Chosen Option : 1

Q.13 Select the most appropriate synonym of the bracketed word to fill in the blank.

There is a huge generation __________ (void) between Arun and his grandparents.

Ans 1. experience  

2. traditions

3. gap  

4. memory  

Question ID : 26433060686

Status : Answered

Chosen Option : 3

Q.14 Select the correct indirect form of the given sentence.
Latika said to him, “I got a hefty discount on this television.”

Ans 1. Latika told him that she is getting a hefty discount on that television.

2. Latika told him that she has got a hefty discount on that television.

3. Latika told him that she has got a hefty discount on this television.

4. Latika told him that she had got a hefty discount on that television.

Question ID : 264330104602

Status : Answered

Chosen Option : 4

Q.15 Select the most appropriate option to fill in the blank.

Seeing my messy room, my mother taught me to keep everything in order. Now my
room is ________.

Ans 1. spick and span 

2. on demand

3. high and dry

4. of no avail

Question ID : 26433070547

Status : Answered

Chosen Option : 1
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Q.16 Select the most appropriate synonym of the underlined word in the given sentence.

The perils of smoking tobacco can never be ignored.

Ans 1. Benefits

2. Delights

3. Hazards

4. Humiliations

Question ID : 26433071961

Status : Answered

Chosen Option : 3

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

One who mediates in a deal or complex situation

Ans 1. Equaliser 

2. Solicitor

3. Pacifier 

4. Negotiator 

Question ID : 26433072312

Status : Answered

Chosen Option : 2

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
I am been working here for the past ten years.

Ans 1.  had been working here  

2. is been working here

3. have been working here

4.  was been working here

Question ID : 26433097031

Status : Answered

Chosen Option : 3

Q.19 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

There is a whole world / out there that / is invisible from / the naked eye.

Ans 1. is invisible from

2. There is a whole world

3. the naked eye

4. out there that

Question ID : 26433088944

Status : Answered

Chosen Option : 4
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Q.20 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. In Tokyo, they built an expressway linking the international airport in Haneda to the
centre, and widened some of the city’s major arteries.
Q. These infrastructure improvements helped to bring about the Japanese economic
miracle over the next couple of decades.
R. Tokyo 2020 was supposed to be a great economic stimulus, replicating the
achievements of Tokyo 1964.
S. It was thanks to hosting that Olympics that Japan invested in infrastructure such as
the famous Shinkansen bullet train .

Ans 1. RSPQ

2. PQRS

3. QPRS

4. SRQP

Question ID : 264330104738

Status : Answered

Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) _________ demanding for students as a result of different internal and
external expectations. Teenagers are especially (2)__________ to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) _________ solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4)_________ aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) ________ in future.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. became  

2. becomes

3. become  

4. becoming

Question ID : 26433084799

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) _________ demanding for students as a result of different internal and
external expectations. Teenagers are especially (2)__________ to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) _________ solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4)_________ aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) ________ in future.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. liable

2. scared

3. resistance  

4. prone  

Question ID : 26433084800

Status : Answered

Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) _________ demanding for students as a result of different internal and
external expectations. Teenagers are especially (2)__________ to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) _________ solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4)_________ aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) ________ in future.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. physical

2. intervention  

3. convention

4. collateral  

Question ID : 26433084801

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) _________ demanding for students as a result of different internal and
external expectations. Teenagers are especially (2)__________ to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) _________ solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4)_________ aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) ________ in future.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. most eager

2. more urgent

3. more important

4. most crucial  

Question ID : 26433084802

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Academic life has (1) _________ demanding for students as a result of different internal and
external expectations. Teenagers are especially (2)__________ to academic stress because
they go through so many personal and social changes. As a result, designing effective and
efficient (3) _________ solutions requires a thorough understanding of the causes and
consequences of academic stress. Exams are one of the (4)_________ aspects of anyone's
life. Exams are stressful for everyone, whether they are students or adults because everyone
wants to perform well and no one wants to fail as to avoid (5) ________ in future.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. purpose

2. wanderlust

3. sneak

4. ambiguity  

Question ID : 26433084803

Status : Answered

Chosen Option : 1
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